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Presenter
Presentation Notes
Leave this slide up while the residents score the models.


OVERJET
= 0 to < 1 mm (edge-to-edge) = 1pt
=1to=3mm = 0 pts
>3to=5mm = 2 pts
= 3 pts
>7to=9mm = 4 pts
> 9 mm = 5 pts
Negative Overjet (x-bite):
1 pt per mm per tooth = __ pts
Total 3
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Presenter
Presentation Notes
1.  The instructions state that overjet should be measured between two antagonistic teeth.  This may not be possible for certain malocclusions.  In this case there is a significant midline discrepancy where measuring between antagonistic teeth requires the measurement to be made at an angle.  In these cases it is not unreasonable to measure from the tooth that allows a more horizontal measurement to the center of the upper tooth.  In this case measuring from the UL1 to the LL2 is reasonable, and creates the largest overjet measurement.
2.  Measuring to the center of the incisal edge of the UL1 produces a measurement that is greater than 6.5mm but not greater than 7mm.  The angle of the photo makes the measurement appear to be exactly on 7mm.  Consequently, the score is 3 pts.  


Overbite

OVERBITE

= 1to=3Imm = 0 pts

= 2 pts
=>5to =7 mm = 3 pts
Impinging (100%) = 5 pts
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Openbite

_all

ANTERIOR OPEN BITE

0 mm (edge-to-edge), 1 pt per tooth = pts

then 1 pt per mm per tooth
Total

o

LATERAL OPEN BITE

= 0.5 mm, 2 pts per mm per tooth
Total
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Crowding

CROWDING (only one arch)
>0to =1 mm = 0 pts
=>1to=3mm = 1 pts
> 3to=5mm = 2 pts
=>5to =7 mm = 4 pts
> 7 mm = 7 pts
Total
I
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Presenter
Presentation Notes
You are essentially measuring the amount of overlap on the existing arch.  Don’t measure crowding based on where you want the arch to be, but where it is now.  


Crowding

g ilabld
P ‘S ’{)Oa(%fl %(a-l![]ﬁ' ; CROWDING (only one arch)
: . 0.25

g >0to =1 mm = 0 pts
: N >1lto=3mm = 1 pts
Ry g » @ 4.7mm = 2 pts
‘ 5 * >5t0=/7mm = 4 pts
6.3 A Y > 7 mm = 7 pts
RN Total
Y 2
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Presenter
Presentation Notes
This photo shows the measuring tool used for final grading; however, it is best to use a digital caliper for greater accuracy.  
You are measuring the amount of overlap on the existing arch.  Don’t measure crowding based on where you want the arch to be, but where it is now.  
Be as accurate as possible.  Don’t round up or down EVERY measurement.  Only round the total amount.
Total = 4.9mm, rounds to 5mm.  Score = 2pts.
If you measured 5.1mm then technically your score could be 4 pts.  The measurement is so close that it is reasonable to score 4 pts.


Occlusal Relationship

Class I to End On

End-to-End Class 11 or II __ pts
Full Class II or III : yeT Sid __ pts
Beyond Class II or III = 1 pt per mm __ pts
additional
Total 9)
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Posterior Crossbite

LINGUAL POSTERIOR X-BITE

= 0 mm, 1 pt per tooth Total 3
BUCCAL POSTERIOR X-BITE

> 0 mm), 2 pts per tooth Total 0

Board of Orthodontics®


Presenter
Presentation Notes
The UR7 is not past the tip of the LR7.  


Cephalometrics

CEPHALOMETRICS (See Instructions)

B?é}g ANB = 6° or = -2° @4pts = ___
27 Each full degree > 6° _x1lpt =__
T ] Each full degree < -2° _xlpt =__
.@ A\ : SN-MP
3 & 1 W / > 38° @pts = 2
~ | “\ | A Each full degree > 38° __X2pts=__
Fo AR ~\ll— £/ < 26° @lpt =__
S | N Each full degree < 26° —xlpt =___
- J"\_{,ﬁ' AL .Ik\_,._ﬁ _. ‘J 0 /24 B .
— . / SR Each full degree > 99° _x1lpt =
CASE: E D 832w ¥
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Other - Midline

DTHER (See Instructions)
Supernumerary teeth

L.:
|..

Ankylosis of permanent teeth x 2 pts

Anomalous morphology __x2pts = ___
Impaction (except 3rd molars) __ xXx2pts =__
Midline discrepancy (=3 mm) @ 2pts = l
Missing teeth (except 3rd molars) __x1pt = ___
Missing teeth, congenital __x2pts = ___
Spacing (4 or more, per arch) __x2pts = ___

Spacing (mx cent diasterma = 2 mm) @ 2 pts =
Tooth transposition x 2 pts =
Skeletal asymmetry(nonsurgical tx)
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Presenter
Presentation Notes
The ruler is not all the way over to the lower midline.  The discrepancy measures very close to 3mm and is accepted as meeting the 3mm minimum.


Other - Anomolous
Morphology

QOTHER (5ee Instructions)

Supernumerary teeth __x1pt =___

Ankylosis of permanent teeth __x2pts = ___

Anomalous morphology L:: 2 pts = l

Impaction (except 3rd molars) _ x2pts = ___

Midline discrepancy (=3 mm) @ 2pts = __

Missing teeth (except 3rd molars) __x1pt = ___

Missing teeth, congenital _ x2pts = ___

Spacing (4 or more, per arch) __x2pts = ___

Spacing (mx cent diastema = 2 mm) @ 2pts = ___

LI2 measures 6 mm. Tooth transposition __x2pts = ___
It s 0.6mm+ larger than the LR2. Skeletal asymmetry(nonsurgical tx) @ 3 pts = __

It’s not unreasonabl
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Presenter
Presentation Notes
This may not be enough of a problem.  It IS anomalous morphology that does influence treatment, but perhaps not significant enough to warrant scoring.


EXAM YEAR ___ ABO DISCREPANCY [NDEX
ABOID® _____ CASE® _____ PATIENT

TOTAL D.1. SCORE 16 I18 FHMT:‘FMMHHT;M |

OVERIET LINGUAL POSTERIOR X-BITE
000 £ § /P iedgete-sdgal = 1pt = 0 i, L@t per ool Teral 3
L I = [pts
>Jbos 5 mm = 2 pts Bl POSTERICH L-BITE
= ] pts = O i, 3 DAE DeE TR Total O
= Fi T lipﬂ.
= 0 s = ~Fpis CEPHALCQHFTEILS (See Instractions)
Negative Crrerjer (x-bige): ANB = &% g 5«20 PdpE =
U 0% P MM 27 DosOn - Each full degree » 6% —Elpt = ___
Toal i‘ Eact full degree < -2* __Elpt = __
DNESRITE Sh-MP
»1to% 3 mem = 0 pts I Dipts -l
Sl Si mewsmew  _xims
> 5 ] = Jpts
5 26% eipt =-___
Imginging {100%:} = 5ph
ot Each full Segree < 26° _Elpt m__
I o MP = 39# glp =_
ANTEBICE OOFN RITE Each full degree » 99° __®ipt =
0 mm ielgetonix), lptpertoskh =_  pin Total
than 1 pt per mm per Eooth =
Total TE] QTHER (Sew Instnactions]
Suprmgmerany breth —Elpt = __
LATERSL OPEN BITE
® 0.5 mim, 2 pRs per mm per toath Aniylosle of pempnest etk _xip '7
Total 0 Anomakus mamphology  LL2 _ xipts = !
CROWDING {only one arch) iR AT I '7
z0to =1 mm = [ piz Hiding dEcrepancy (23 mm) 9 2ps = <L
>l s ) mm = 1 pia HMisging tewth (Feosp Idmoies) _ mlgpl =
= 3 pld
= LG E T mim = 4 pld . —xips = __
= e = ¥ b Spading [8 & mone, ger ach) _ K2 pis =
Total | ) | Spacing [me i disera = Tmm) B AptE w __
Tozkh transposiion __EZSpim =
et Skelatal asymmatry[normugcal ) @ Jpts =

Il = Fpisperaste ___ pis
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